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1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Answers

1. 13,644

2. 8,527

3. 11,913

4. 11,762

5. 8,470

6. 12,495

7. 16,156

8. 16,580

9. 15,561

10. 8,190

11. 11,309

12. 19,106

13. 7,913

14. 9,709

15. 10,881

16. 13,154

17. 10,958

18. 9,343

19. 16,063

20. 8,732

Solve each problem.

1) 6,954 + 6,690 = 13,644

2) 5,840 + 2,687 = 8,527

3) 6,456 + 5,457 = 11,913

4) 8,558 + 3,204 = 11,762

5) 5,533 + 2,937 = 8,470

6) 6,651 + 5,844 = 12,495

7) 8,106 + 8,050 = 16,156

8) 9,724 + 6,856 = 16,580

9) 9,904 + 5,657 = 15,561

10) 6,322 + 1,868 = 8,190

11) 7,329 + 3,980 = 11,309

12) 9,696 + 9,410 = 19,106

13) 5,489 + 2,424 = 7,913

14) 6,498 + 3,211 = 9,709

15) 5,470 + 5,411 = 10,881

16) 8,573 + 4,581 = 13,154

17) 6,443 + 4,515 = 10,958

18) 5,760 + 3,583 = 9,343

19) 9,501 + 6,562 = 16,063

20) 4,990 + 3,742 = 8,732
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Modified

Solve each problem.

11,309 11,762 11,913 12,495

16,580 8,190 15,561 8,470

13,644 19,106 8,527 16,156

1) 6,954 + 6,690 = 13,644

2) 5,840 + 2,687 = 8,527

3) 6,456 + 5,457 = 11,913

4) 8,558 + 3,204 = 11,762

5) 5,533 + 2,937 = 8,470

6) 6,651 + 5,844 = 12,495

7) 8,106 + 8,050 = 16,156

8) 9,724 + 6,856 = 16,580

9) 9,904 + 5,657 = 15,561

10) 6,322 + 1,868 = 8,190

11) 7,329 + 3,980 = 11,309

12) 9,696 + 9,410 = 19,106

Answers

1. 13,644

2. 8,527

3. 11,913

4. 11,762

5. 8,470

6. 12,495

7. 16,156

8. 16,580

9. 15,561

10. 8,190

11. 11,309

12. 19,106

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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